PART - I
(1) GENERAL ENGLISH

1 Choose the word most nearly OPPOSITE in
meaning to the given word.

Fecund
(1)  Exorbitant (2)  Sterile
(3)  Inane (4)  Distant
2. In the following sentence, one part may have
an error. Choose the one which has the error,
1f any.
I/ look forward to/ hear/ from you
(1) (2) (3) (4)

3. The following idiom ijs followed by four
meanings. Choose the one which best expresses
its meaning.
to wipe the slate clean
(1)  torestore orderin an unruly situation

4’2) to start a new and better way of behaving
(3) tomake up for a lost fortune
(4)  toremove all obstacles from one’s path

4, In the following sentence, out of the given
alternatives choose the one which best expresses
the meaning of the underlined word.

She has some rather contentious ViIews on
religion.

(1)  substantia]
(2) negative
(3)  involuntary

A

Directions for question numbers 5 and 6 -

causing disagreement

In the following items a word 1s followed by four
explanatory expressions.
which best describes the word.
5. think tank
A1)  government agencies vested with powers
to oversee and assess policy measures
(2)  a group of experts brought together to
develop ideas on a particular subject and
to make suggestions for action
(3)  anodal agency of the state that gathers
data and informations about the citizens
(49) oval glass houses installed inside
libraries to be used by members

Choose the expression

6. brainstorming
(1) a session with the psychiatrist in which
the analysand undergoes a rigorous

process of self-examination
(2) a confession in a church xa*here the
father makes an elaborate hearing on the
past sins

“l%) an activity inside a classrgnm which
- morally breaks down the barrier between

teacher and the taught
(4)  an activity in which a group of people
meet to suggest a lot of new ideas for
possible development

Directions for question numbers 7 and 8 :

In each of the following sentences tmprove the
underlined part with the help of given options.

7. He die last week after a long fight with cancer.
(1)  wasdying V(2) died
(3) isdead (4) hasdied

8. She goes shopping at an every opportunity .
(1) atall opportunity
(2) at every opportunity

at all opportunities

at each opportunity

Complete the following sentences by using the

correct form of the verb with the help of options
that follow : |

9. It is instinct
migration.

\}] that told the birds

(2)  that tells the birds

(3) thatwas telling the birds
(4) thatiste lling the birds

when to begin their

10. \?ﬂ:i""ﬁlﬁ?ays len't\a\ sympathetic ear =
Iy if!

if you had problems
(2)  ifyouare h.:jﬁg problems

(3)  ifyou have beenhaving problems
@) ifyoyhave problems
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PART -II / 9mr- 11
(1) Gen. Knowledge and Current Affairs / GHT=T 19 9 QUAMETS 92

21. The In_dian Institute of Vegetable Research
(IIVR) is located in which one of the following

places ?
1) Pune (2)  Chennai
(3)  Varanasj (4)  Delhi

22.  Which of the following has recently

campaign called ‘Suchitwa Sagaram’or ‘Clear
Sea’ ?

(1) Fisheries Ministry of Maharashtra
\,}3) Fisheries Ministry of Tamil Nadu
(3)  Fisheries Ministry of Gujarat
(4)  Fisheries Ministry of Kerala

23. Which of the following statements about the

Preamble of the Indian Constitution is not

orrect ?

() The following additions were made to the
Preamble by the Constitution (42nd)
Amendment Act, 1976 - Socialist,
Secular, Integrity.

(2)  The Preamble of the Constitution lays
down the objectives of the Constitution
which forms the basic structure of the
Constitution.

(3)  The Preamble can be amended under the
provisions of the Article 368 of the
Constitution.

(4)  The Preamble declares that the date of
adoption of the Constitution is 26th

January, 1950.

24. On which of the following grounds did Sonam
Wangchuk receive the Ramon Magsaysay

fward in 2018 ?

/(1)  Initiative to harness creativity in
education for economic progress of
Ladakhi Youths. ¥

(2)  Initiative to harness Nature, culture and
education creativity for community
progress.

(3 Initiative to harness vocational training
e conomic progress of Ladakhi Youths.

(@) Initiative to harness agriculture for
- economic progress of Ladakhi Youths.

24.

21.

22.

23.

|25_.
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(1) HEu™ (42-97) H9eA AfufEy, 1976
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Match List-1 with List-II and select the
correct answer using the codes given

below -
List-I ]
List-I1I
(@  AThousand (1) Stephen
| Sple‘ndjd Suns Hawking
(b) ij I:?iﬂj'ﬂn < (1)  Ernest
| / nies Now Hemingwa
(c) A Brief History () V.S NagiW ail
of Time i .
d  AFarewell to (v)  Khaled
Arms Hosseini
Code:
S0 1@k @
() et i@ . (V) Gi)
2 @ Q@ av) (i)
@ v @ @ @)
4 @ @) GG G

27.  Whatis the time-line planned for achieving the
Sustainable Development Goals (SDGs) ?
/1) 315t December, 2025
(2) 315t December, 2030
R (3) 315! December, 2035
(4) 315t December, 2020

28. Where among the following was the Helsinki

Summit held in July 2018 ?
(1) Johannesburg (2) Uganda
(3) Rwanda kl) Finland

29. The duties of Dharma-Mahamatras appointed
by Asoka are enumerated in the following

edicts :
(@ Rock EdictV
= Pillar Edict VII
C) Rock Edict VI
(d) Rock Edict XII

fﬂde :
(1) (a)and(c) (2)
(3) (b),(c)and (d) (4)

(a), (b) and (c)
(a) and (b)

30. Which of the following terms is used to refer to
increase in concentration of the toxicant at

successive tropic levels in'the aquatic food
~chain ?
( Eutrophication
2)  BioMagnification
(3)  Cultural Eutrophication
(4) Both (1) and (3)

18A2

26.

27.

28.

29.

| 30.

gt - 1 TR G=H - 11 =1 gitferq F A feu o
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(@) TWYSHsis (i) IR Bifa
T S8 9y

b) T mfeas () I R
TS AT,

© TIlH feedh (i) .TH. AU
3T <EH

) THERIEALIHY (v) TR g
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@ ((b) @ @

(L)% (i) () (iv) (1)
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3) v) @) @ @)
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YR - fashra-a8d &1 9rd ¢ 1 fuifa g
FE?

(1) 31 feg=r, 2025

2) 31 fegm=r, 2030

(3) 31 feuwsr, 2035

(4) 31 fgg=r, 2020

S 2018 H eAfdeh! f¥M@TaTdl &1 3TESH

frfafad 9 9 ==l gem 412

(1) SR 2) FmeT

3) el 4) fFis
VM R g fRT MU ol & e &
34 19 Afveral § Soora gl ¢

(@) YouHq fremera b) IO T
(0 W ferermcrE @ gew R
F : . .

(1) (a) W (c) (2) (a),(b) W (c)
3)  (b), (c) T (d) 4  (a) T (b)

STeATd HISTH @ § AR ST ey T W
fortret gl =t Higdl e & Hed ¥ g wisg
v fohan Siar € ?

1) YRy
2) ST ARy
3) oo JeHhyH

@) (1) 3«1 (3) A
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PART - II / T - 11
(2) Reasoning Ability / drfehes arrar

Firld the appropriate term to fill in the missing | 31, g @ T HEen H g TH hi gfd + fou
one in the series given below - IYFF GE& Fl A :

225 289 338, 374 7 . 415
(1) / 386 (2) 389 1) 386 2 389

(3) 405 4) 399 (3) 405 4 399

31.

225, 289, 338, 374, 9 , 415

32.  Astarted walking towards south and walked | 32 ‘A’ S0 1 SR Fe1 Y FI41 § 3R 50 HeX

upto 50 meters and took a right turn and walked Fcidl & Tt 98 Srff 3Tk gea 30 Hiex Toidl 2|
30 lrllsegers. He again took a right turn and Jdg Ush aR %Y e 3R Hedl & 3R 100 HieX
walked 100 meters and took a right turn and ~ 8 e
walked 30 meters. How far and in which SRS gg“n[ 30 HIX t"_""‘” gl ‘A’ #ARH
direction ‘A’ is from starting point ? forg ¥ fapat R AR 69 fewn 4 &2

(1) 50 meters North (1) 50 HIET ITW

(2) 180 meters East (2) 180 HIeX ‘{61;

(3) 150 meters North 3) 150 HIeX 3T

d) o0 meters South (4) 50 T2 efaqo

33. Select the one which is different from others. 33. fTafafEd § 9 =59 o A 9 e €2
(1)  Hurricane (2)  Earthquake (1) q®HE (2) b C e
(3)  Explosion (4)  Flood B3) foupr 4 W

34. Select the correct option which is related to | 34. F=fafaa 4§ U 9l e = ERE R T isipsry L[+

the third term in the same way as second term q 39 YR Hefyg B 9 ysr 9 T 9T A
1s related to the first. l T2 Q Hefyg 2.
FKPU : UPKF : : CHMR : ? I

| FKPU : UPKF : : CHMR : ?
(1)  XSNI @ ZDHL | xsm

(2) ZDHL
(@) YTPK 4)  XTMJ - (3) YTPK 4 XTMJ
P-6 SPACE FOR ROUGH WORK / 7% & & forn smrg
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39.

36.

37.

18A2

What is the minimum number of straight lines
required to draw the figure ?

(1) 13 (2) 15

(3) 21 @7 11

In a certain code language, ‘Always Create Idea
1s written as ‘g1 ba sha’, ‘Idea New Thoughts’
1s written as ‘ma ri gi’, ‘Idea New Solution’ 1s
written as ‘ri g1 to’. How is ‘Create New
Solution’ written ?

(1)

(2) rigiba

N4)

sha ri g1

g1 11 to

(3) / ba rito

P QR ST and U are seated around a circular

table facing towards the centre.

(a) ‘R’ sits second to the left of "T".

() ‘P isnotanimmediate neighbour of: Tt
(c) ‘T’ gits second to the left of ‘S’

d ‘U’ is between ‘T and ‘R .

Who sits to the immediate right to ‘Q?

@ U

@R

0T .

@ T

SPACE FOR ROUGH WORK / T &4 & feTq e

35.

36.

37.

fom =1 5 ¥ fou =gAam i Tt #t 9en
forat B 2

13 15

(2)
4)

(1)

(3) 11

21

fordl e T 4, ‘Always Create Idea’ %l ‘gi ba
sha’, Idea New Thoughts’ &l ‘ma ri gi 3R
Ydea New Solution’ bl ‘ri gi to’ fora wian ©

‘Create New Solution’ &1 oy foran s ?
(1) sharigl (2) rigiba
(3) barito 4) girito

PQRST@IU@W%%ﬁEaﬁ@Rﬁ%
s 93 LT |

@ ‘R‘T % N9 gE TH WAL ¢
b) ‘P ‘T 1 Fehedd TSIt el € |

© ‘TS % N Y TH E WS ¢ |
@ U TIMRFAAY 3R

‘Q % TeheH T A HF W31 R ?

(= k @ : U

3 T 4 R

P-17



38.

39.

40.

P-8

Find the missing character.

38. W HEAT 9qIEY |
el (1) (T
()" .10 @) L1 (10 (2) 14
3) /16 A (3 16 @8
39. ﬁHF&rﬁaﬁﬁHﬁmﬁwdﬁT@ﬁ@ﬁFsﬁA,
Ateam of five bagket ?aﬂ Playersis to be selected B, C, D 3R E g1 91 iSfdl P, Q R 3R S @
O among five boys A_ B,C,DandE and four feheate faenfes
gIrls P, Q, R and S following the considerations | 5 A 2 1 2 1 =7 o s
given below g
. A and S have to be put together. ¢ A 3R S =+ Uhd1Y TG ¢ |
. RcannﬁtbeputwithB. o RﬁBaﬁﬂquﬁ@ﬁTm%l
. D and Q can not go together. . D aﬂTmeHﬁ?@Wm%l
. C and E have to be put together. ~ C 3R E = Ush 919 Ta 1 ¢ |
< PcannﬁtbeputwithR. - PﬁR%mqqﬁwmm%I
Iftwo of the members have to be boys, the team | e 3 & < e a=% B a3 H -
will consist of : - '
M g 2
(1) A, D, S, Q, R (2) A, B, S, P, Q (1) A, D, SJI Q:- R (2) Ai B, S, P} Q
43 CALBSS OWR 4 B,D,S,R, Q @) ANB'S Q R (=B . D.S. R .Q
Question Figure (A) and (B) are related in a | 40. Y9 fa3 3 (A) 3R (B) ot foreit g Tfd 9 -
particular manner. Choose the correct option @:’( Pe 995 21 99 feu W f9aheql ¥ Q el
from_ the a?lte:ltnatives to estal::slish the same ﬁmﬁﬂ?ﬂ?ﬁ, SgeT (C) ﬁqg-gamiﬁmq
relationship with the (C) question figure - -
= @ @ JAY r - A
D | Y ="t . .
£ Ll < 1 T 1 i e ey 0 1 S
@ ® (© ARGl o
(A) (B) (C)
R e e 3 >
| | F N @ D @
(1) (2) (3) 4)
(1) (2) (3) (4)
SPACE FOR ROUGH WORK /% &4 & fee s 18A2



PART -1II / w31

(3) Computer Literacy / STHET [TLIAT
41. 1S used in i -
oo ‘S usedinimplementing the cache 41. = 1 YA H3 YO =) F1iea F3
.. _ B[l © |

(1)  ROM (2)  Optical Fibre O © o

) Afeshd wEat
3)  RAM (4)  Magnetic tape 3 W } Yo o

(4 qfee

42.  Which of the following is not related to web

search ?
(1) Yahoo (2) Bing
(3) Google n(ai) Facebook

43. Firewall is designed to block unauthorized
access. It isimplemented in -

() Hardware only
(2) a combination of Software and Hardware

(3) either Software or Hardware, or a
combination of Software and Hardware

—~A)  Software only

44. A device that can convert digital signals to
analog signals is :

(1) apacket “2) amodem
(3) an emulator (4) aswitch
45. Browser is a to

(1) software, visit a website
(2)  hardware, visit a website
(3) hardware, connect to internet

A

software, create a webpage

46. Which of the following is not an output

device ?
(1)  Microphone (2)  Printer
@ CDROM (4 Monitor

18A2

12, FreAfcrfion & & % @ dm v @ g w6 2

43. AT 1 fESTE S1fea vew o1 9% & foro
fohan T 21 I% fRay wmifag w51 s 2

(1) ad geda
(2) UIRIT 9T AR F Ga=E I

3) WA R Y AR, 319 TS
a1 TS X & HAIeH |

(4) hHIA HRIIT T

44. T€ 77 Sl % fefoea famet =1 et fgma) 3

qfafdd T gehar & -
1) e 2) Hiew
3) UHIX 4) =g
45. SESK % fou ws g

1) FFHES WA, SR
2) dEEREE WM, BEam

(3) TR TR FH, BEaW
4) IS T, WA

46. fTefafEd § 9 - see feamy @& 22

P-9



47.  WiF; stands for -
(1) Wireless F 1bre
(2)  Wired Fidelity

3  Wireless Fidelity
(49)  Wired Fibre

48.  Which of the following is best suited for

M@ MS Excel
(3)  MS PowerPoint
4 MS Word

49. In PowerPoint Presentation. which of the
following actions constitute animation ?

(@)  Fadingofslide

(b)  Inserting a text box

(©  Insertinga graph

(d) Specifying motion path
Code :

() (a)and (c) '(QJ/ (a) and (d)

(3  (b)and (c) (4)  (a)and (b)
50. provides linkage between CPU and
the user.
(1) Storage

(2)  Control Unit

(3)  Peripheral devicesg
(40  Software

P-10

47.

48.

49,

50.

WiFi &7 379 ¢ -

(1) ST FEe

@) aFe fhefad
(3) g frefad
4) HEE HEH

BT F1 TH FE F UMW TR FE F fow
FafafEd § 9 $E-97 Y I9ger & ?

() THTH 3ifrg
(2) TUHTH T
(3) UHUH YieRyize
(49 THTETE

Wﬁmﬁm%ﬁmﬁ@aﬁmW
1 THTERTA gl e 2

(a) 5 1 e a1 |
b) TF FF =

© U 2T

@  ARA Ty faffe g

Fe

(1) (a) T (c) (2)  (a) 9> (q)

(3 (b) qA (c) @ (a) q91(b)
.Y, T e 3 e H9e Yo

FAT B |

1) B

@ ey

@ U feary

(4) W

18A2



PART - I11 / YT - 111
Education / foret

51. Asper RTE Act 2009, whose responsibility 1s to
pyepare a School Development Plan ?
\(1)
(2)  Cluster Resource Person
(3) Block Resource Person
(4)  School Management Commaittee

School Headmaster

52. Who is not a Cognitivist Thinker out of the

following ?

) David Ausubell
(2) Jerome Bruner
(3) Tolman

(4)  Albert Bandura

53. Best is one 1n
which :
(1)  All possible teaching aids are used

V2)

(3) Proper discussion is done

organized teaching

Occurrence of learning gaps is minimum
(4) Students cooperation 1s maximum

4. In which of the following types of e-learning
students cannot proceed at their own pace ?

(1)  Video Courses

(2)  Social Networking

(3) Discussion Boards
AV irtual Classroom

55. ‘Differential Teaching Session’is a component
of which of the following models of teaching ?

(1) Mastery Learning Model

2) Inquiry Training Model

| (3) Glaser’s Basic Teaching Model
(4)  Concept Attainment Model

56. According to Constructivism :

(1) Knowledgeis construed from and shaped
by experience.

(2) Learningisa social interpretation of the
world.

/(3) More emphasis is given to understanding

and problem solving.

(4) Learning is an active process.

18A2

ol.

52.

53.

54.

99.

56.

AR A 2. 2AfufTad 2009 F SHER, fo@ne™ fo
I AR T 1 IEac foheeh! 2l ?

(1) foumas gensysd

(2) GHE GEYA Al

(3) Te HHYH <Afa

4) o gsiea FfEfd

g § g HF U SFHare] e A6l © 2

1) Sfae sgEd

@)  SIUH IR

(3) A

(4) ST IR

aatem wfsa e o e & e

(1) Gt Heqrferd fefon HerE qrEET 93
el 2 |

@)  aifemH sie # Sutedfd =Adad el € |
@) =fad w9 ¥ == Ft Sl
(4) Toenferdi = eAfeshad FamT e € |

trfafea B ¥ fra TR & S-3femm | fomne

ST T F T 9 AT @ 9¢ Hohd ?
ORI ERIR ICRER:

@)  Hee qedfhT

3) TaEidS

4) AT BT

fadiea foem w3’ fefafaa e gisel o
foFehT Weh 31994 © 7

(1) YA () ST A

2)  Sira SiRe "ied

(3) oIS 1 qo foern Higd

(4) Hhoddl I A

TS 6 SATEN :

(1)  3EYE W FH 1 YA 3R a7 21 |
() ST HUR i U WIS SATE | |

(3) WY UE FEE THTEE W AT 9 e
ST @ | | |

AT W Wisha Aisha & |

4)
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87.

While organising Co-curricular activities the 57.

organisers must ensure

(1)  prize for everybody

(2) most children get motivated to
participate

“’fS) that participation is made mandatory

(4)  only good ones participate
. ,_ 58.
08. Reporting of learners’ assessment to students
1s of little value to -
(1)  Know what they are doing and why they
are doing
(2) Facilitate remedial/enrichment activities
/ for the child
@)  Promote personal-social development
(4)  Promote self motivation for improving
his/her performance
59.  Which of the following is a biggest short-coming
1n Indian school libraries ? 59.
(1) Inadequate seating arrangements
~52) Absence of proper catalogue system
(3)  Open accessibility of books
(4)  Shortage of books
60. Which of the following is not the mode of course
‘/cie]jvery 1n teacher centred approach ? 60.
(1)  Cooperative learning
(2)  Problem based learning
(3) Assignments and exams for summative
purposes
(4)  Lecture method
61. Regarding the difference between Impairment, | g1.

Disability and Handicap, we can truthfully say

that :

(1)  Disability is the functional conse quence
of impairment.

(2) Handicap refers to the 1nability to use
different organs effectively as normal
persons do.

(3) Handicap is also defined as social |
consequence of impairment.

Impairment refers to the abnormality of
a structure or function of an organ.

1 3Tava gfafved Al =M :

(1) Tt % T TR

@)  AfeehaR diereh HM oF & AU faufe &
3 T wriiert eifFard &

(4) et FerH GiqHTiTar

ferenfefa) =i AfermHeRaiat] a1 3Meherd A &
FH Hewd &l © :

1) FWIAHRI R A @S & H R
w®e

SoTeh o ol IU=Ry/AaYa nfafafaal i
e 9 H

(ST~ HTHTSToh f9ehre Ficdifed &hid o
SHeh USRH H GUN &g W AU iedTfed
FHH

vt faemea gwsedl § fefafea § 9
$IH-H1 U a9 921 Y 8 2
(1) &3 F A9aid gay

(2)

(3)
(4)

(2)  Srud G Yure! st srufeafq

3) Y&l =l GeAl e

(4) Y&l i HHEl

A Hi=d STH H Ffefe 5 & S qegesg

fore=m =t yoreht T8 8 2

1) Hart Afemm

(2)  HHEN AHIRE S1fay

(3) Wi eVl o] T S ey

4) M fafy

& TOTelT, 37T TS TR o Hed St % Heof & =

= 9 8 g ua & &5 -

(1) YT &fOT 1 e Sy B 3

(2)  SEHA W AT & G T Y S for
| A R €, fafm st s sy
! 3T |

(3) aqmaﬁ&ﬁvmammﬁa;vﬁm%m
| %ﬁﬂﬁqﬁamﬁﬂm%|

(4) &R AT § TH ST HY Trew syerey
R H STIHTHT=IAT |

18A2
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62.

63.

64.

65.

D

66.

How much time on daily basis has been
recommended by NCF 2005 for teachers to
review the day, make notes on children to follow
up the next day and organise material for the
next day lessons ?

(1) 50 minutes (2¥ 45 minutes
(3) 40 minutes u‘({{ﬁlt) 60 minutes

Which of the following is the correct sequence
of motivational set ?

(1) Dl*i‘fE. goal directed behaviour,
attainment of goal, satisfaction.
(2) Drive, satisfaction, attainment of goal,
. goal directed behaviour.
{ﬁ)/ Drive, goal directed behaviour,
satisfaction, attainment of goal.
(4) Goal directed behaviour, attainment of

goal, drive, satisfaction.

Which one of the following 1s not an accepted
feature of an evaluation tool ?

(1) Usefulness "(2)
(3) Reliability (4)

Validity
Subjectivity

In activity based curriculum :

Activities are decided in advance before
the start of the session,

(2) The whole syllabus is transformed into
activities.

(3) The teachers’ role is mimnimum.

(4) The list of activities have to be

standardized by the educational
authorities. |

In a village setting, the topic “Germination of

gram geed”’, can be best taught by :
)M/ssk;king support of farmers from the
community

£ T(2) Laboratory experiments on gram seed
o germination
(3) Derli:{bnstratiﬂn on gram seed germination
through models
(4)  Organizing a film show on gram seed

18A2
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62.

63.

64.

65.

66.

e & qaraced, 3Tl feA TFER F & AU
] I A2 991 U 3Tt fed o qrel & e
Tt s GeAAEd i & fa, TH.HL TS, 2005
g forereni B SfTeh 3aR o) foRd= 99T =t A9
HTE T2

(1) 50 @72
@) 40 fa7e

45 e
60 T2

(2)
(4)

SAfITOTe s 9= o fefafea 3§ 9 sE-9
& AT ?

1) Iom, ted s seRR, wed Wi, Syt
@  Iom, Hafte, Te g, wed ek FaRr
@) Iom, wed e =eEr, Hyfe, oed i

4) e FRERE EeR, Ted Wi, Som, S

Frfefaa § @ 1 Teh Jodichd 9Ll &l s

9o 7al © 7

1)  S9FITar (2)  dudl

@) TavegEa (4) fouaEsdQ

Tifafafa smenfia grea=m=i 9 :

1)  TFYRY A 9 ge, fafafar wea 9 fuitd
FT ] S 2

2) X UISUshH TiafaiEd § Eiaid T <
S

3) Torers =t yifeht =gAaH Bl © |

(4)  Siferek Afeerial gra niafafeai =t gt
TR TeHT0] Shil Bidl © |

Weh UTHTOT ATcrerol |, farer = o it =1 37

Jed 3= W UG S Fehdl © :

(1) HHeH  fhaml | erdal i

) T4 % Siel oh HHIO T FIITRITE FA g
(3) HiSHl gRI = & sl o SAHI0T ST
(4) = % Sl T T fhed 9N & STESH g
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67. The most accurate of the following statements
18 :
1)  Girls mature faster than boys.
(2)  There is no general difference in the rate
of maturation of boys and girls.
(3)  The majority of girls mature more rapidly
than majority of boys.
(4) Boys mature faster than girls.
68. One reason that validity coefficients are lower
than reliability coefficients is that the :
(1)  relhability of a test sets limits on how valid
the test can be.

J (2)  tests with low validity relate very high

to the criteria.

(3)  highreliability does not explain the effect
of factors like attitudes and feelings.

(4)  highreliability is a guarantee that a test
18 valid.

69.  Which of the following measuring tools are used
to assess co-scholastic performances of
students ?

(a) Checklists
(b) Rating scales
()  Selfreportinventories
(d)  Projective tests
Code:
(1)  (b)and (c) (2)  (c)and (d)
3) (a)and (b) (4) (a)and (d)
70. The bagic difference between amentia and
dementia is that :

(1) dEIl_lEIltiﬂ 18 Eimply the technical term,
while amgntla | 1S commonly uged by
layman toidentify the same condition.

(2) demenﬁa refers to a loss, while amentig

/(. refers to a lack of mental functioning.

) 3mﬁnﬁ§ 1S neurosis, while dementia ig 5
psychosis.
(4) dementi,_a Involves a more advanced state
of psychiatric dysfunction.
P-14

67.

68.

69.

10.

(1) TSH] i TN Srefwal dasil | qfigey 9
STl © |

Sl Td ASihdl i RIS 3L H FiE
TET 31q el el © |

STyl TTSfohal, STTYHIYT eTSeh! ol 2Tdey,
31feres siterar @ gftge 21 S § |
ATSfhdl i 3TUET ASHh ool | I &
STd © |

Ueh Yl TS99 o favad=radr feeiesnl &)
(1) T &0 Fi fovaa-gar 9= fAyifa
X <dl & T wieror fepan 9y &1 9har &
= Suar o gdemr gEEEl € W' 3=
9y TEd € |

TR & YHTE i AT T8] F3dl © |

(4) A ToRag-TE T T & foh Tlem a7 |
faenfear < ge-foemeas frafaai & e g
=fafad ar9= syl § 9 fraer vam e
Sl € ?

(2)

(3)

(4)

Y&

(2)

(3)

(a) ﬁﬁw &ED f=y)

b)  FuRe g

() . H-WW

(d)  9eIdt gdter

%<

1 (b) W (c) (2) (o) W (d)

3  (a) W (b) 4 (a) W (d)

RIS U8 TH19 & e 3w & fip -

(1) T R EY Y T T e S e
TRl &y , ST RIS 1 ve=rm
Td, U S R

@  FNYN W e ey Y 2 et
;ﬂm?mﬁaﬁqﬁmmwﬁw

|

() &R AT (few) ¥ whn
T T T () §)

(4) Wwﬁqﬁn-m&mﬁ@;aq‘r‘%ﬁ
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71:

2.

b

73.

(3)
(4)

74.

(1)

Mukesh gets easily distracted and fiddles in his
seat during teaching. He can’t read fluently
and often reverses letters and words. He faces
difficulty copying words from the blackboard
as well. Mukesh 1s likely to :

)
(2)
(3)
(4)

be dyslexic
have dyspraxia
have hearing impairment

have language disorders

What precaution must an institution head take

while making efforts to mobilize financial
resources ?

Avoid making compromises on the
principles governing institution

(2)
(3)
(4)

Cheap modes be preferred
Avoid e-transactions

Prefer to welcome all contributors

The names of McClelland, Atkinson and Lowell
are associated with which of the following
concepts ?

fl) Need achievement
(

2)  Reward expectancy
Level of aspiration

Social motives

Organisational Climate gets marred due to

(1)
(2)

Lack of resources

Parental indifference

_48)  Weak leadership

(4)

75.

Children’s indiscipline

As a teacher, while evaluating learning of
students you should avoid

(1) using variety of ways to collect
) information about the students’ learning

(2) prm@ding feedback to students

(3)  collecting information continuously and

S

18A2

record the same

making comparisons between them

7 I3

72.

73.

74.

75.

91 %1 LA G 9§ 7 B e € SR = e
oh T HX TGl hidl a1 €| 9 YT9are el
9% Hehdl AN A& T ITse) 1 37T 32l HT <l
Tl WY & 3 WWHYT ¥ W) HI H9 w o
S {SATE =1 HIHAI T IS & | T99 © fF goha
1) feucfems B

@ ol feuufemm &

(3)  hl HF Y1 & |

(4) <! 91 fahR 2|

forita el o HURU & JaTd Hid B U L
g o1 1 HEHTHT sa-t S ?

(1) HeE 9o o fagidl ) 99Ed FE 9
CEEIRC IR

@) I Ul Sl Sgar e Jfeu

3) S-HETeEl § S9A 9fen

(4) |4 FEHEHIRAT & WG okl IUFAT <A1
<6

Fefafed 9 9 f5g geca & 99 Afemcis,

U251 T3 Aae & AW S g ?

(1)  SEvgahdl ST

(2) YOERR GYE

(3)  SThI& & WX

(4) ISR AR

ST STdao] & & STl ®:

(1)  HHYA! &l HH % HRO

(2)  SAMYHTER] T ST & HROY

3) & ATH o HR

(4) ST Shi STTITETRAT & HT0]

ferenferat < 31ferms =1 Yeaien S g s e

& ¥4 § TR T IR -

(1) feenfei < siferm < i H g w0
& fafsm ol & = g

) Taenfddi i gfagfe yem

(3) AR 1 ThHHd A Ts 39 e
q

4 STHIETFAEY
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76.  Which of the following is a correct sequence ? 76. fr=fafEd 9 9 :H-91 T 9a@t HIhH g7

(l) Sender - Receiver - Message (1) m — ‘mg"} = W
/\‘Z)’ Sender - Message - Receiver 2) Y9E - o9 - UMl
(3)  Message - Sender - Receiver (3) W - UNF - 'HTEQ(
(4)  Receiver - Sender - Message 4) Rl - 99 - oyl
. EI S EIRCE I fonerer/fRrferem =
77.  While planning a lesson, a teacher need not : | /7 E; Al . gL T
| : e iy - |
IJ (1 ‘P:rnuw tl;e pertiurmanctee I:velt:f ear?z; o il TR
2 t cted outcome o Te _
| e @) ST e P o 3 R
| Y fear &t
| 3 Know the home background of the |
!i learners 3 39 AT | & e W‘Lﬁ? T 9l &
:|I (4)  Consult a reference book (4) dE Ush 9y =% 99Uy of
|
| 78.  When preparing IEP (Individual Educational | ' 3.5 (m e A1) T e [
Plan), which of the following should not be et § & foFd s =@ e a2
| considered a basis ? 1) v fd S 9 =aferg qeg
:Jl (1). Individual goals to be achieved I it %ﬂ 99 o
| | Time frames for achievement of the goals @ SvEE F1 ger F HE2 W, TR
43)  Preparing the IEP without consulting the FE

parents

@) Current strengths of the learner

g 79.  The tendency of teachers to give high ratings ST %, 3= ot < 1 SreATgRi ST YA A
to students without critically examining the (1 mﬁ;qgmq:,q o F YA 0 B 2 3T
’ quality of their work tends to : ) | PR

i - &l STt 2
MY (1)  reduce the validity of their evaluation. ) ITF Teais




81.

82.

83.

84.

Which of the following tests should a teacher
use to determine a student’s ability to perform
well in a particular field of study/activity ?

(1) An interest inventory
(2) V" Aptitude test
(3)  Performance test

(4) Standardized achievement test

Flanders Interaction Analysis System aims
at :

(1)  reducing the time of teacher talk in the
class

(2) increase the time of student’s talk in the
class

(3)  moderating the teacher pupil interactions

in the class
y/::hanging and improving teacher’s

behaviour

Young people often learn many skills working
alongside a master. This kind of learning is
known as:

'41) Enactive learning
(2)  Operant conditioning
(3) Learning by contiguity

(4) Vicarious learning

What kind of curriculum is followed in Learning
Centred approach to education ?

(1) Developmental
(2)  Spiral
(3)  Prescribed

/Hj’ Emergent

85.

In which of the following type of test, test itelnm
are constructed to maximize discrimination

among students ?
(1)  Criterion referenced

(2)  Objective referenced

(3)  Performance referenced

M\T orm referenced

18A2

81.

82.

83.

84.

85.

AeFga/mfatafy < ferdt favm & o ue fornef &
3TSST US¥H T hi &9 1 Fd F & ol T
et 1 F=afafea wheel § | frge gam
T =R ?

(1) T fed =
)  fvsie qie
(3)  WeRIH gl

(4) HHE ST qOeyo

Tl AR favagu yomet 9@ wferd

=Iel ©

(1) el Y AT o A o] THY HH FH WK

2) he ¥ foEndt & Sem &1 96 ggH W

(3) hel § AN fommedt s==afmanetl
TINYA FTH T

(4)  AATIH| & FdeR F5e T HRA T

el oI TRt fereioa o Wi e i g 3TN
ogd ¥ HINE W@ S & | 39 YR 1 ey

FEATT B

2  TRaTvEd TR

3) HeMEel BRI AUy

(4) TG AfeTH

foren & SAferm emarRa 39w ® fohg wehm
TSI 1 STTHI Bl | 2

1) fowmEmTs

@  gfid

@) fayif@

(4) ST

frfafed | © fog g o gdem o, fo=niee o
fa et shl I=ITH W1 9 de &g, TUE Ue|
&1 fmfor foen ST € 2

(1) e Hefia
2) I HefHd
@) froafa Hefua
(4) | HfHd
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86. According to Mager, a statement of | gg W#W,mqﬁﬁﬁm SRR

mstructional objectives stated 1n behaﬁuu_ral RV F vE Fy F FEfetEd ¥ Q fag :
terms has to meet which one of the following RES

criteria ? I T FA &2

(@ Identification of terminal performance | (@) 39 AfdH YS¥H S TBHH FH 99 31y
which, instruction attempts to produce. FTA 1 JATH TV FI ¢ |

(b) Description of how good a student's b) IUF &A1 fF e faenel &1 uev= faa
performance must be, to be acceptable. 99 91, % e @

(¢  Description of the important conditions © W iR &1 0F e R

under which the behaviour is expected

to occur. AR B4 I AT B |

Code: / ' e : |
(1) (b)and () (2) (a)and (c) ' 1)  (b) WH (c) 2) (a) W (c)

3 (a,(band(®© @ (a)and (D) 3  (a), (b) T (c) 4) (a) Td (b)

87. Inaclassof 40 students 30 students correctly 87. 40 feenfert =i T F H 30 forenfefar 3 /5
answered a test question. The difficulty value T U¥ 1 HE I e 39 9@ #g & _
of that question item is : FHfSE T T -

I B 2. 10 (1), 75 (2)' 10

@25 @4 30 @ 25 4) 30

e 88. Tfofed # 9 wF-w1 faemerd wfrg foen =4
S 88.  Which one of the following is not a real problem

deten il U ardfaes Toe g8 & 7

| of school Mathematics education ? | .

B - () Curriculum is disappointing for all (1) Wﬁ#mwmﬁﬁﬁ?ﬂﬁl
' Amajority of children are not capable of e |

learning Mathematics. 3) T ¥ A o Afy=iyr =91 A 99 Tq
(3 A majority of children have z sense of

| * ! fear and failure regarding Mathematics. _ R ;ﬁ e e & l. :
Bl (4)  Teachers lack confidence, preparation (4) &l 9 farvam, GRIRC kb1 o Y
R 2 and support. BT € |

s I nent level that is within

:I:{-:_:;LEEI:-::.J:E. :'|,E-".-'|-".'|' ‘fpiﬁli > -y
ey e o ol i, | L") X
7 . L ".-_.l,..,' -:ﬂ'
s Tk e = i P
1 i . + -rl - 1_-‘.;"":.! d --I-T:I ﬂ.fr'_ ¥ ._}_' i, | e 1_ — 10 3 y P
L 1 ] =—ran. ) i.l__ T1TABRT = T 1

@ U ey
A i |
L ‘I i
-I. - () Wi L i
|(3) ! = i. ul
X i { L : :
N i
e i
v i B - [
T i [
. el T2 C P diesr— T
3 ’ & & = e al -a' "N byl - =P 5 - L 2
! ] | 1 s o .o |1 } Sy i o ol A |
el et LS ' X 1= e P - - : . | Ll A § !
- o= o —_— Wl S o ! e, ", . ] :
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91.

92.

93.

94.

In Indian school contexts, a textbook should not
be :

(1) attractive
(2) asole basis of examination
(3) low cost

(4) inlocal language

The concept of continuous and comprehensive
evaluation implies :

(1) A learner’s achievement in all weekly,
monthly and annual tests

(2)  Alearner’s achievement in scholastic and

_ literary actavities
< |
..{3)  Alearner’s progress and achievement in

all school activities

(4) Scholastic achievement of a learner

Looking at a visual, a teacher in her class said
to students : ‘What does the picture mean ?’

This task relates to which of the following
category of cognitive domain in Bloom’s
taxonomy ?

(1~ Understanding
(3) Analysis

(2)
(4)

Application
Knowledge

Self esteem of an individual is largely

\/ﬁrmined by :
(1)  the appreciation an individual receives

95.

18A2

for his accomplishment,

how succeseful an individual 1s in
accomplishing tasks or reaching goals
that he values.

(2)

(3) judgments of self worth of an individual

by others.

the perceptions and beliefs an individual
has about himself.

(4)

What minimum number of working days have
been prescribed by the RTE Act 2009, for classes

VI to VIIL? x
1) 200 \‘)/ 9220
3) 240 4) 180

91l

92.

93.

94.

| 95.

Tt feerdt Sed #, T weugEs A el

+1feu :

(1)  3Yeh

(2) TN w1 Weh Rl STHR
3) 9 I

(4) T 9 H

e T HHY qedish i Hehedl 9 qedd €

1) U e s g wrifedh, HiEe
ug arftish qAen H Su (s

e SAferTHeRT h faRmerdl Td Hifelceash
nafafaal o 3Tcifed

(2)

(3)

(4)

T <9 F| 2@ gU, U fferh | 39T RET |
ferenfelai @ gt ‘s R A A A © 7
*q“aaﬁrﬁﬁymﬁmmﬁwaaﬁﬁm'ﬁf@a

g St § gy a1 © 7
(1) Y @)  TAHEm
@)  foreersm 4) T

foet safed o1 ST —ge Sfereniemd: fAeifa fehan
SIGIGE

(1) 3T ST R U AfE i fHer ae
GUET g1 |

ferert ToheTal § Weh SATeRl shdl ol U T
@ § I d& 9% Ued @ &, S 98
e <dl 8, 5N |

T AfH i AH-Hedl Hhl U 6 g
fvfta fer ST g1 |

Teh Afad & WY o JN H Y Td LR
sl |

(2)

(3)

(4)

el VIR VI 0 & ford, st s, sAfuftam,
2009 g1 foha =Aad s feaw fauifta fee o
®7
(1)
(3)

200
240

(2)
(4)

220
180
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96. Which of the following characteristics is not
true of divergent thinking ?

(1) Novelty of ideas

(2) Correctness ofideas

(3) Fluencyofideas

A4)  Flexibility of ideas
97. Inthe context of curriculum, which one of the
following statements is correct ?

(1)\/Curr1'culum includes both desirable and
planned experiences.

(2) Curriculum includes undesirable as well
as unplanned experiences besides other
school experiences.

(3 Curriculum does not include extra-
curricular activities.

' 4 Curriculum and syllabus are
synonymous terms.
98. ‘Assessment as learning’ may not be much
facilitated by .
, /(ﬁ Standardized achievement tests
(2)  Collaborative learning
(3)  Group discussion
(4)  Brainstorming
99.  Which of the following is not a pillar of
inclusive education ? t
(1)  Compulsory promotion
véf Compulsory retention
(3)  Compulsory achievement
4)  Compulsory enrolment

—
&

96.

97.

98.

99.

100. For an effective Instructional plan, whose role 100.

should be minimum -
()’ Educational administrators and planners.

42  Parents |
(3)  Teachers
(4 Students

P-20

frafafag § 9 = G forerem T9ER ey %

foTue g 718l © ?

q) fo=m s TS

2 foari &1 guR

3) fo=ri =1 gare

(4) o=l &1 =g

qrea=al & oY H, F=fafEd el 3 9 slF-m

Tl ©?

1) USTHdA H digHE U geHes 39
qfaferd Bd 2 |

) reT=Al H 31 famnerg srgyel o ifafiad
AASIE T TR-ASHIeg 746 Fiferd
BId @ |

(3) ureH=El ¥ sfaften grew=at wfafafuar
Affed &t gra |

(4) UISI=El U4 YISTshy qHHETEl Ue © |

AT % B H e’ (‘taade us At o

(1)  Whighd SqcIfst Treqol g
(2) HEINHS AT g

3)  HYE ==el g

4) foaREWgM

(1)  AfEE ueSElg

@)  2Afart gy

B) 3T 3uefey

4  fHaE T

LER R CNIGI) HIRIHF A1 3, Foprgad

AT BT =nfew ? ke

2 A 3
3)  ferereni Y
4)  foenfeiy
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PART -1V / st - IV
Admin and Finance / 998 Td faxt

101. As per LTC Rules, how many times can the
I—!c:nme Town be changed during entire service ?

) 2)
(3) (4)

Once Never

Three times Two times

102. Thet privilege of flying National flag on motor
car 1s not allowed to which one of the following ?
(1)  Chief Justice of High Court
(2) Executive councillors. Delhi
.8 Foreign dignitory travelling in his car.
(4)  Speaker of Lok Sabha
103. What 1s the limit upto which a Group B

Government servant can receive gift on
occasions other than those when making of gift
is not in conformity with the prevailing social
practice without the sanction of the

Government ?
W)  T1500 @ %2500
(3) < 5000 (4) < 1000

104. State which is true. CCS (CCA) Rules applying

to :
\g) Member of All India Service

(2)  Personin casual employment
(3) Member of Indian [nformation Service
(4) Railway servants
105. In which of the following cases TA to the
tamilies of the temporary employees is not
admissible ?
(1) whoare invalidated
(2) whoare retrenched from service without
being offered alternate emp loyment
(3) who have not rendered three years of

101, TE.A . FraHEe % TER TeATR Hereh hi Hal
¥ 2 forart e uftafda feran s wehd &2

(1) THIR 2) Yl TRl
(3) M R 4) QAR
102, = § @ fFQ U el STUHT R W T
EHEIBEAE [
1) 3= I 6 YHE AR
) e e, feed
(3) faesft ToaE= S STl R H A Hd
Bl |
4) ATl % T
103, T O '@’ F HHER H, T AT T, D

T8 £ o1 TR S 9T SRR o i =1 G

T2
(1) <1500 (2) < 2500
(3) < 5000 (4) < 1000

104. WY (afe) fm = H 9 e | ang

continuous service

who retire on attaining age of
superannuation after service of not less

than 10 years.

(4)

18A2

B E?
(1) 3fEs YR 941 & Jad
@) TR fasH & At
(3) hid guAl Wl & e
4) YTd HHER
105. ST FHH=M & Ufer i = § 9 fhy g
=t el 6 o o
(1) o e =nfya fean =1 |
| 2) mﬁﬁmw?ﬂﬁgﬁﬁmﬁam
Bt i TR 2|
3) e 3 o o e Harehtet Ui A fohan 2 |
4) S 10 98 A AfUH & WA o I
Aferarfea T Fanfa =l |



106. TH =Afaq ¥ 3r=ict FUA SIIa A1 ha-fasmyg oy

106. For entering into a transaction relating to T
immovable property with a person having & ford foge 91y &Rl HHAERT & AT
official dealing with him/her a Government bl } =T #) -

e B Hich(d ;
servant will have to : SRR AL (M i 34 =iy
() give intimation within a month (1) Qa]': Hﬁiﬂ fhﬁ Bk ? :

V(2  seek Prior permission (@) Liquﬁm‘_ﬂﬂ' ah A
(3)  giveintimation within two months () T I & T LS BT |
(4)  give prior intimation (4) g4 H=-T &l =il

107. What is the maximum time limit upto which | 107. STRIfqa Iferepm] kT SR 1 T SterTe é:' i bl
the charged officer can seek extension of the THg 9H1 Ay 9 fyss &9 a5 delg Sl Hohd]
1initial time limit for submitting his statement )
of defence ? | X
(1) 20days (2) 30days @) ?"T'H fﬂ ) H__H i

v(3) 45 days 4)  2weeks (3) AT Te @ A EE

108. Verification of Income Tax Return filed is 108. 1771 5 9 form H ST T ~.
required to be submitted through Form ITR-V il AT BH ~ [TR-V S BT AT & 7
if the return has been filed : (1) SIS A1eam @ fesfiee gseman F o1y |
(1) EIECtI‘UI]iEEﬂl}? under digital signature (2) gﬁa—_%r‘fﬁa; ey 9 gﬁa—_%?rﬁﬁmr— g9 Shig

\é) EIiEtr;nicaldly under electronic &1 JA & 2l |
verification code 2 e L’j
(3)  Through transmitting data electronically ) Tlf i ﬁfa § |
(40  Inpaperform @ W e
_ 109. f=fafag o : |
109. Which of the following activity is not subject S HH TG TH AR 6 e Tl
\t/ﬂGST 2 &7
1) School providing food in hostel to the 1) T g sEEw § TTEnfefei =t @
students. H&TH &A1 |
(2) Sale of old machinery and scrap by 2) fafmiar ST GO H9 Td w919 Ea|
manufacturer. ot | i
(3)  Saleof pledged goods by Bank.
| (3) o gr fielt wmE % fag
(40 Sale of unserviceable parts by transport .
undertaking. (4)  9RERT 3UHy g STITATTT ISif &7 foary |
110. Which one of the following is not correct L0 ¥ SELE IS & o1 § el T
regarding premature Increment ? %?
(1) Itcanbe granted by the President only. (1) e fak TYfd gry < S Hhdl & |
@ It can be granted by the authority which (2) T8 Fad g T 2 Fepa ? 'S ge
~ hasthe power to create the post.
*/63) Reasons f. t not to be indi mﬁmmm%l
neaso Or grant no Indic | 81 |
3 2 | gT e1n CatEd. | (3) mmﬁﬁmﬁﬁ?ﬁl
(4) Furthﬁr increment has to be regulateq
in the ordinary course, @ == a‘d’-‘l aﬁ STHR Fﬁ-{ q <l F‘ml"ﬁ |
P-22
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A Govt. Servant can contribute his contribution
towards National Pension System :

if
(2)
3)
(4)

111.

upto his date of superannuation

upto 65 years of age

upto 70 years of age, if one 1s so willing
upto 60 years of age

Donations for charitable purpose made to which

?[‘f thi following is not fully exempt for Income
ax '

(1)

112.

Prime Minister’'s National Relief
Fund

(2) National Sports Fund

(3
@

National Defence Fund

Prime Minister’'s Draught Relief
Fund

Revised rates of CGHS subscriptions based upon
the Implementation of recommendation of
seventh central pay commission are applicable
to the employees superannuating on or after.

S
(1) 112:2017 - (2) 31.12.2015
(3) 31.12.2016 (4) 1.1.2016

113.

114. A Government servant was appointed on a
contract for one year which was extended to

three years. Is he eligible for L.T.C.?
M Contract Govt. Servants are not eligible

111. wmmﬁﬂ@ﬂwmﬁmm
SHT Y Gehell ©
1) SE&H g1 [ %! dE doh
@) 65 9 @l g Th
(3) maﬁaﬁmwaﬁaﬁmwat
(4) 60 99 i AG TH
112, WUt waeE ¥ A T e i ) fora geen & ford
W%@WE@EWH@E%?
(1) e T TEd s
@ TEE T B
(3) U &
@) e @ TEd

for LTC.

2) Eligible only if he 1s a retired Govt.
Servant.

3) Eligible only :n cases the initial
appointment on contract was for at least
2 years.

(4) Eligible after one year of continuous
service.

What is the level of the officer to be appointed

= as member of Authority for Advance Ruling
(@) Not below the rank of Assistant
Commissioner
2  Notbelow the rank of Deputy
Commissioner
3) Not below the rank of Superintendent
/4  Not below the rank of Joint Commissioner

18A2

SF e T SEEE T 2
1) 1.2.2017 @) 31.12.2015
3) 31.12.2016 4) 1.1.2016
114. @wﬁﬂmﬁaﬁ%ﬁﬁﬁamﬁw
ﬁmwmﬁﬁﬁ?‘cﬁqﬂdnm%iiﬁﬁﬁﬁl Co)|
oz T el A fErEd & ©
(1) Sfer & aTuR T Fgea FHER ggl A
fmad & 9 el ol |
2) a3 Fad afz 9% T YA e g
FHEM ¢ |
(3) a3 g afe sEE! yRfus Fafe =aam
o o & ford g8 ot |
4) e 9 3 TAq WA oh IR A |
| 115, form R = atfum, i fafrof sifeeroon =
gew Frgea fohan S € 2
(1) T 3T Y FH WL |
2) 39 3TE O FH W H A |
@) i | FH W H T |
(4) ﬁwwﬂmwwqﬁi
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116. In which case the CCS (Leave) Rules shall

apply ?
.'.Jl (1)  Persons employed in industrial
4:5 i establishments
E‘if (2)  Deptt. Canteen employees
Rk (3)  Persons locally recruited for service in
] Indian establishments in foreign
countries.
“é) Persons paid from contingency

- 117. A sum not exceeding which of the following is
| allowed as deduction for preventive health

- check-up of the assessee as per
1 28 I-Tax Act :

B R25.000 2) 40,000
- 'J-{ B 3) - T10.000 ~d)  T5000

%%_ﬁ The block to which the LTC is to be debited is
Eiemded from which of the following ?

LR Q.{.____'}. Date of outward journey
= " 2 ,:(2} Date of completion of return journey

;: _; 1;, Date of submission of claim for
é{lmbmsement

':' - - Date of apphcanun for leave

1 3 ) ey ?_ﬁ‘" L kT
119.  Maternity leave is not admissible in case of -
(1 -L o PWldﬂW Govt. Servant

Induﬂed abortion

116, T @ el W fa A (Fgh) 790 A #M 2

) afrenfites TEenedi B Hrald e

@  favmia HA7 FH

(3 Tl § uReda fawE § T SR 1
weft fepe 7T A

(4) SR T = G YT feh ST ATt =afey

117. 3R SAffEH & STgaR f ° § FE@ &
frramen Taree S W @ i 113 fehat T

F o =i 22
(1) 25,000 2) 40,000
(3) 10,000 4) 5000

118. ©et a1 farma =+t fve s & dgd o i
ST 3Rt Ay f= 8 9 frges sy W fopan

. '.'g-;-.  the  criterion for recommending
T :;'ﬁs'ﬂ‘h der FRES@) ?

Govt. se anj;must be fmund meffectwe

! AT
ALY r_,-j;—.!n.
- g (B

120. sﬂﬁﬁaﬂnmss@)ﬁﬁmﬁqﬁrm STTYT & & 7

ST & ?
(1) &8 I YRS e &1 fafy 9|
(2) SO I St wHIiE &) fafy 9
(3) 39T =FF ! Gfaqfd & g 1 fafer 9
(4) 7T F TG 9F F feaqg 9 |
119. 4§ wgfa s 7@ fiera -
1) foye a=R FHE[
2 FYYRE 7o
(3) ST TYUrq
@  AfFenfed s FER

(1)
()




122. Which of the following shall not be considered 122. SHTEA. & 9o &g = 5 9 ferg fafsaio

to be part of cost of production for the purpose

of Valuation under GST ? ST @l |1 S 2
{1) Production overheads 1) fafqafo - UEEY
\2) Administrative overheads (2) yeaH -39
(3) Interest and finance charges (3) == Td o[ 4R
(4)  Prime cost (4) Y& (") are
123. Which of the following is not Fee ? 123. o & 991 Yoo Tél 8 2
(1) Remuneration for writing of study 1) UNO & o § 192 fareq 9t uiigies |

" reports for UNO .
(@  Dividend (2) AT
- z Il W ISI-he] 3 B I
(3) Income from occasional participation in - SRl A W _ ﬁ'ﬁ’
sports (4) 3T TGl bl e o BEGMA T&01 HLA |

(4)  Scholarship received during study leave

124. YAl & ferd sAfienr feees ard & 2
(1) AU AfEHr

124. Who is vested with the review powers ?

| (1) Appellate Authority 2 A AfHHE
l (23/ Revisioning Authority 8) HRd S UL
(3) President of India 4)  TTEE AYER

(4) Disciplinary Authority

125. = & 9 =9 @ 520 g2t amn {6t 5=

. 125. Whichofthe f{;r]lﬂm?mg rules determine forfeiture U@ e ?
| of LTC claim ? 1 f=Ea-9 2 3| - 14
(3) Ruleld (4) Rule7
126. TTHR HHAN FSTEeh! TR IHT RIH T T
126. What is the entitlement of composite Transfer Fraterg o foar T # T =} srErE 9hEda
Grant of a Government servant transferred to - 3 : .
another office at the same station involving gl ST ST Bl
compulsory change of residence 7 1 THR 7
(1)  One-third of 80% of last month’s Basic | 1) frss T % g 90 61 80% 1 T e |
Pay @ foed 9% ¥ ga add &1 & (e |
2)  One-third of last month’s Basic Pay ' 3 e o % g Ja7 =T 80% T 3T |
(3)  Half of 80% of last month's Basic Pay @) frEe e ¥ e A 1 80%

(4)‘/ 80% of that last month’s Basic }?ay
127. Frefafed 9 HF-91 96 @ 8?7 F=1d fofad

127. Which of the following is not true ? A () FRm 3 W A e
CCS (Conduct) Rules are applicable to: 0 e v de ¥ weel w
| of All India service. . ;
g; : ;ij:; ];ppointed as personal staff of (2 39 oA W e < ot = & T H
P LEE forgea foman T B
G every person appointed to a civil post.. @ e w S e T R g
(4)  every person appointed to a civil service. @) 3T s RS fafae S A frged ¢



128. Which of the following is a major 128. ﬁmﬁﬁaﬁq-ﬁ[ﬁé]"{ﬂﬁ?{%7

? _ -
\I?Enalty. ” L (1) CRE mqﬁwﬁmwmﬁaﬁ?m
“(1) Reduction by one stage for a period of one i ey far e W afaEd

year with cumulative effect affecting Skl gw_\a F 2
pension. FHT ETedd gl AT |
(2) Reduction by one stage for a period of two 2) daAHE T Tsh M Ushd T < g9 o fod
years without cumulative effect not Tt gurE 3 fay 37 Y9 T yfepet 9uE
affecting pension. f s e |
(3)  Reduction by one stage for a period o _ o i
three years without cumulative effect not () AT A H Uk 1t wepH W i e o ferd
affecting pension. T Y9719 ok forT 7R 99 W fqeeat 991
(4)  Reduction by one stage for a period of one CRBCEIECEIGE
year without cumulative effect not

(4 999 99 ¥ U 9 gy W U g & ol
= 9T & o1 3R 99 W yfasd 9919
HERCEIRCRIRT

affecting pension.

129. Which of the following is not admissible for
reimbursement under CS(MA) Rules ?

(1) Expenses incurred in connection with | 129. F=ra Ja1 (fafean qferE=t) i & 1 =

operation for sterilisation. T 9 fraet Tfagfd =&l =1 S Sehat & 2
"(2/) Treatment by a private dentist (1) ¥9e<i 9T =g |
(3 Expenses incurred on medical ) ﬁiﬂﬁ-ﬁmﬁmﬁml

termination of pregnancy.
‘ |
(4)  Expenses incurred on treatment for (3) TSfFERE T W) =

venereal diseases. (4) |9 I ( T< )t Faferen @ == |

130. The Competent Authority for various purposes | 130. fafys gzenaii o T At = gar & -
i 1)  faum = gfag

1 The S t faD t t :
(1) e Secretary of a Departmen o ﬁ'@FR-GﬁWﬂﬁ'ﬂ'{ﬁﬁTﬁ

(2)  The authority who has been conferred

powers under FR - 6 &l
(3)  The supervisory officer of an employee (3)  HHEAR RRICIESREE BEany
\a.() The appointing Authority 4) ﬁfﬁﬁﬁ FH 9T AR
131. - Which of the following is correct ? Every | 131. fr=#i 3 HF T HE R ? Yo T FHUIN &
Government servant shall at all times : qay -
(a) lr::;:twam high ethical standard and () % STER A ¥ g ST T I

(b) take decisions solely in public interest , b)  Had SHfed o o St
(©  notdoanything contrary to law (© & % fowg g HTH T& T4 |
Choice : | g

v @ ®ande @ (a) @ @OTWeE @ @

i F
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Within how much t;
132 . Hucn tame can the .
(CCA) Rules ? ex CCS

@)
(3)

Two months

(2)
(4)

SiX months

One year

=1 One month

133. Which of the following does | |
permanent disability ? not constitute a

(1)

Renal Failure

- (2 HearingImpairment
3) Mental Retardation
(4)  Blindness

To what extent reimbursement of local journeys
at the station of visit and incidental expenses
are admissible under LTC rules ?

%} Not admissible

134.

(2) Onlf?’ transport from house to Railway
station/Airport/Bus station admissible

(3)  Only porter charges admissible

(4) Incidental expenses admissible but local

journeys not admissible

135. What is the time limit within which the
charged officer has to respond to the charge

sheet ?
(1) 10days \é 15 days
(3) Onemonth (4)  Oneweek
136. A Government servant wants to buy immovable

property outside India. She/He applies for

permission but does not receive & regly. Aftfar
how many days from the date of receipt of his/

her request can she/he presume permission :
1 30 days 9)  60days
(3) 90days (4) 1bdays

137. A Govt. servant does not retain lienlon a post:

(1)""/ While holding a temporary post
2)  While under suspension .

132. UH ey Afysr .88 (3.4 3t #1)
MIHTEE o 37did 91fd ey &1 foat 999

=T B qeToT S T § 2

(1) HEGE (2) T: e

(3) Ueh HIcd (4) 'Qa'_:'q—gﬂ?rl
133, T 8§ S5 o T o9 e A ?

1) e werEr (fee % 8m)

(2)  FdUl Al

(3)  HMEEH Y

(4) A

134. 21 A Ty fammEe & S T T4 T

feqifed TG ann 49 Al AT oA i
yfrafd fere <m de Tgea € 2

(1)  TE e |

@) FHad e 9 99 ASSI/EAR ST VYA
e a1 =FE AT |

Fad Tl AF AT |

(3)
(4)  STNTTER o ST U, T A A
A Tl |
135. 77T T O SR SR Shl Stersl < shi T
e R T ?
a1 10fA 2 15 fcd
3) W HeHI (4) TH9«R
136. T OGN S 9 SRl 3T Tt Bl

SRt % e S % o STEEd Havdl € |
1 e A faem i g ¥ a8 fhad @7 & 9

(3) Onhis appointment in any autonomous
body on direct recruitment.
(4)  While performing duties of another post

18AZ2

7% T geFavat & o 38 srafa i T ©2
1) 30 f<H 2 60 fed
3 90t 4 15T
137, T HHEIR TE U8 T IRONTUEHR el T -
(1) SRR 9 AN g
@ oA BH W
(3) w@ﬂwﬁﬁmﬁﬁtﬂﬂﬁ-@ﬁ
T |
@) TR TE o e AU



138. Additional secretary and DG, CGHS has power

to settle the Hospital Bills at approved rates of

CGHS pensioner beneficiaries to the extent
of :

ol
(1) (2)

(3) (4)

R 15,00,000 < 20,00,000

< 25,00,000 < 10,00,000

138. F.HOIAL F UyFYRT a9 o fafacarad T«

& YA gq ifaftaa gfea qen HerHeeTh
(FEaA) # SiFd g ) 7= d F R
NIESEA

< 15,00,000
X 25,00,000

< 20,00,000
Z10,00,000

(2)
(4)

(1)
(3)

139. Booking of Air tickets from whom is not
permissible under TA Rules ?

AT 991 o FmmEet & qgq feag gdr Al
feehe o1 3799 Tl © 2

139.

(1) Ashoka Travels and Tours

@ IRCTC (1) STRIHT oo s 26 9 |
W@3)  Any Travel Agent (2) AR.ARGI G 9|

(4)  Air India Booking Counter 3) FIE W Tl T |

4) TH 3 & gfhn HRE=L H |

140. Within how much time an appeal under Rule

25 may be preferred : ‘ i
H{ = o i 140. TFH 25 H A9 W F1 & ford fohat 99
ays ays o
1 YT © ?
(3) 60days (4) 15 days
1) 30fa 2) 45feH
3) 60 4 15 T<H
141. Which is not correct about foreign service of a ©) (57
Pensionable Government Servant ?
(1)  The leave salary contribution is required | 141. 99 4 9 USHE 9@ FHIA 5 A 941 4
ke bepaid ST T HE TE R 2
(2)  Theleave salary contribution for the leave . AT
taken while in foreign service is required (D) el ST H d €|
to be paid. (2) aﬂaémﬁﬁné@@mg@ﬁmmﬂm
# (3) The contribution must normally be paid YT e ¢ |
by the borrowing organisation and not _
by the employee. (3)  STRICH HH=IG: T 984 2R foha e
(4)  The pension contribution i 1s required to &7 fop o 5|
e epaid (@) T T TR o T s S
142 F'nr how many days of continuous halt at a FTEATE TR S o
station on tour!tempﬂrmy transfer/training full 142. < [AIRTE RASESKS q
DA is admissible ? ﬁqﬁﬁﬁﬂiiﬂi%ﬁrﬁwa@u%
(1)  First 100 days (2)/ First 180 days (1)  99H 100 fem (2) 997 180 feq
(9 First360days (4  First 30 days | 3  9¥H 360 feq 4) 9w 30 fag

P-28
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143. Which of the fﬂllﬂwing 1s not correct ?

(1)  The wording of the charges should be a

clear expression of opinion as to the guilt
of the accused.

(2)

e

Multiplication of the charges on the basis
of the same allegation is to be avoided.

The charge may relate to matters which
have already been the subject of previous
}nquir}; and decision if it is one of
inefficiency or incompetence.

(4)  The charges should be clear, specific and

precise.

144. In which of the following cases filing of Income
Tax Return is not obligatory for a Government
servant ?

(1) Total income during the previous year is
less than the maximum amount not
chargeable to Income Tax.

(2) No tax is due to be paid.

“/{3) Tax liability has been discharged through
self assessment.

(4) Income Tax has been duly deducted by

the DDO and certificate 1ssued.

145. GST council is the Apex Constitutional Authority
to decide policies of GST. It is presently headed

by :

(1)  Union Home Minister

(2) Prime Minister of India

(83) Union Commerce and Industry Minister

Union Finance Minister

146. If an order of suspension has been reviewed by
the Competent Authority and it is decided to
extend the suspension, how much maximum
period can the suspension be extended at a

time ? \
(1) 90days \é) 180 days

(3) 120days (4) 60days

18A2

143.

144,

145.

146.

T 5§ F9-91 TE @ 82
(1) Afyged & < & IR T 7T H1 Af=AfE
F YSTEe TR BHT 91fed |

U B o9 o YR W TH 9 s IRy
M 9 F=9A1 Jifet |

AT TF Al ¥ FafHd 8 Tehd & 191 T
Tecl S Ua f01F & g § If F8 3T
STCETT ST STHETIAT © |

1R T, fafafde ud Sish-Jieh e =fe |

(2)

(3)

(4)

= 9 9§ fog sfifeafa § 9@ R & o
3R faawor 5|1 AT AfaE a8 € 2

1) Fe 3, Al aE T RF T e
FH E |

FIE FL T el ¢ |

1 ST 1 EERT gr fearen &
T © |

3TeTor Ue faawor fsrl g1 U R &
foran T & d9n gH 9 S fREr T R

(2)
(3)

(4)

ST 3. Hifq FuRe =g Si.ey. 2l afufa s=ad
Y YIferiul &1 9daE § 39 37T Hi
€2

1) =g U q3l

2) YA & JUE T3

3) H=Ig MUY T UM HAl
@)  H= o us

Ueh e o STIe9 &t 9Hia 9am fusrt g
i St € ud g o foen s ® foF emew +Y
ey 9IgE ST I Th o) ¥ 3ifus F ifuss
foRaT dIQrE ST Tehdll & 7

1) 90 feq
3) 120 feA

180 &=
60 fga

(2)
4)
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147. All Government Drawing and Disbursing
officers are required to file certificates of TDS

by :
\/()), 5th of the following month
(2) Notrequired
3) 31duly
(4) 31 May

148. A 1is transferred to North-Eastern region from
outside the region. His family does not
accompany him. What would be his entitlement
to carry personal effects if he does not carry his
personal effects ?

1) Cash equivalent of carrying 1/2 of his
entitlement.

(2)  Cash equivalent of carrying 1/3'd of his
entitlement.

(3)  Cash equivalent of carrying 1/4h of his
entitlement.

4 ’t() Cash equivalent of carrying 3/4th of his
entitlement.

149. For the purpose of Central GST Act the
expression ‘Supply’ includes
(1)  Activities or transactions undertaken by
State Government.
Jz) Activities or transactions undertaken by

any local authority notified by Central
Government.

(3 Importation of services for a
consideration.
\%)_ Activities or transactions undertaken by
Central Government,

150. Which of the following is not admissible under
CGHS package rates ?
(1) Admission charges
V)  Costof toiletries
(3  Monitoring charges
(4 Registration charges

-00o0-

147.

148.

149.

150.

T TR STET01 TS faor SAfushifiai i #id T
X FH2Id R AT YT e doh STH] U1 2Idl © 7
(1) 3T 918 &t 5 fafy a6

(2) SIS Tal

3) 31 cT:

(49 31W%

"' 1 TR0 STE &7 IRt &5 B el T
€ | U URER S9% 1Y 7 | gfe ge ST

.
T TTAHT el o S7ar o) SrEaTTa qIeHs
%1 SHH! T BehaTt Bl 2

(1) THS F 1/2 1 & 9H F] T2 qaqcd

™

(2) THIR F 1/3 Sl A T T TS GHIA

8) BHIR & 1/4 I & SH T 7T qHq
(4)  THSRI % 3/4 1 A WA I TS TIA

S5 STH . SfufeEg F geEee RCIERIN

gl 1 T @ e guay w22

()  Tiafafesr a1 S9-27 T TR 2R

(2) o= TR 5N fergfaa et v frm
S i T8 Tfafafeat o o 29

(3) H<H MR Hansti <1 1q |

(4)  TIAISTEET 31 -2 S TR B

999, & AN T A J w o
ded ST e © ?

1) YA YR

(2) WY W 6 gy

(3)  ITATE YUR
(4) YU YR

-00o0-
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